
Linear Algebra Quiz 4

This quiz is worth 10 points. Name:

1. (2 points) Very briefly, explain how you can conclude without any computation that the vectors be-
low are linearly dependent.

v1 =


1
2
3
4

 , v2 =


2
1
4
3

 , v3 =


1
−1
1
0

 , v4 =


1
0
1
0

 , v5 =


π√
2
0
1



2. (5 points) Show the vectors a1 =


1
0
0
1

 , a2 =


1
1
1
0

 , a3 =


0
−1
1
1

 are linearly independent.
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3. (3 points) Show that the vectors x1 =

11
0

 , x2 =

10
1

 , x3 =

 0
1
−1

 are linearly dependent.

(Note: You don’t need to look too hard.)

4. (1 point bonus) Answer Question 3 above in a different way.
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